Online Mock Test

Jamshedpur Women’s College

Paper Xl (Optional Course) Tailoring

Objective Type Questions:

Who invented the first sewing machine?
Esak Singer

T.Edison

J.Prinstey

Thomas Saint

How long is the tailor’'s measuring tape?
a) 2.5mtrs

b) 1.5 mtrs

c) 1mtrs

d) 3 mtrs

Button hole stitch is like

a) Stream stitch

b) Run stitch

c) Zigzag stitch

How many folds will be needed to cut the 6 plated petticoat?
a) Single folded fabric
b) Double folded fabric

Temporary stitch of tailoring is

a) Run stitch

b) Chain stitch

c) Blanket stitch

How many parts are there in Choli cut blouse?

a) 11

b) 12

c) 17

d) 20

How much fabric is required for making a standard kurta for women?

a) 2.15mtrs

b) 2.25 mtrs

c) 3.15mtrs

d) 3 mtrs

Which number needle is used for poplin cloth?

a) 20

b) 18

c) 16

d) 14

Tailoring Chalk is used at the time of



10.

a) Marking

b) Cutting

c) Fusing

d) Pressing

What type of needle is used in pico machine?
a) flat

b) round

c) equal

d) bend

Very Short Answer type:

1.

Name different type of stitches?

Ans : The different types of stitches are the following:

a) Running stitch

b) Basting stitch

) Backstitch

d) Zig zag stitch

e) Cross stitch

f) Button hole stitch

How much metre of fabric is needed to make a 6 cut petticoat ?
Ans : 2 metres of fabric is needed to make a standard petticoat. However for healthy people
2.5 metres of fabric is can also needed.

Name some instruments used in stitching a garment?
Ans : The instruments needed in stitching a garment are the following :
a) Scissors

b) Measuring tape

c) Chalk,

d) Needle

e) Pins and pincushion

f) Sewing needle

g) Threader

h) Seam ripper

i) Ruler

j) Pattern weights

k) Sewing gauge

[) Binder clips

m) Cutting mat

How can you mend clothes?

Ans: Mending clothes can be done :

a) Use traditional darning to repair with embroidered blocks
b) Freestyle stitch around holes

c) Make embroidered wool moth to fix moth holes
d) Add colour patches to cover and fix holes

e) Cover strains with beaded embroidery.



Short Answer Type:

1.

During cutting a garment why do we leave approx. one inch of our measurement?
Ans : One inch extra of the garment is the margin cut. This extra fabric will help
during stitching a garment. The attachment of the cut of pieces of garment is jointly
attached. This gives proper shape to the outfit and the person can wear the garment
according to his shape and fittings.

Which machine will you use — old model machine (manual machine) or new model
machine (electronic machine)?

Ans : The new model machine is more time saving, easy to use, easy to mend
clothes, easy to handle, lots of stitches can be done.lt is portable and light weighted.
It also occupies less space.



